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1.  Whois the father of Computer?
(A) AllenTuring
(B) Charles Babbage
(C) Simur Cray
(D) AugustaAdaming

2. A CPUcontains:
(A) acardreader and a printing device
(B) an analytical engine and a control unit
(C) a control unit and an arithmetic logic
unit
(D) an arithmetic logic unit and a card reader

3. _ is a combination of hardware and
software that facilitates the sharing of information
between computing devices.

(A) network

(B) peripheral

(C) expansion board
(D) digital device

4.  Which of the following statements is true?

(A) Minicomputer works faster than
Microcomputer

(B) Microcomputer works faster than
Minicomputer

(C) Speed of both the computers is the same

(D) The speeds of both these computers cannot
be compared with the speed of advanced

5. CD-ROM stands for:
(A) Compactable Read Only Memory
(B) Compact Data Read Only Memory
(C) Compactable Disk Read Only Memory
(D) Compact Disk Read Only Memory
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9.

10.

MSI stands for :

(A) Medium Scale Integrated Circuits
(B) Medium System Integrated Circuits
(C) Medium Scale Intelligent Circuit
(D) Medium System Intelligent Circuit

CAD stands for :

(A) Computer aided design

(B) Computer algorithm for design
(C) Computer application in design
(D) Computer analogue design

Hackers :

(A) all have the same motive

(B) break into other people's computers

(C) may legally break into computers as long
as they do not do any damage

(D) are people who are allergic to computers

What is embedded system?

(A) The programme which arrives by being
wrapped in box

(B) The programme which is the permanent
part of the computer

(C) The computer which is the part of a big
computer

(D) The computer and software system that
control the machine

Where are data and programme stored when
the processor uses them?

(A) Main memory

(B) Secondary memory

(C) Disk memory

(D) Programme memory
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11.

12.

13.

14.

15.

BCDis:

(A) Binary Coded Decimal
(B) BitCoded Decimal
(C) Binary Coded Digit
(D) Bit Coded Digit

Second Generation computers were developed
during:

(A) 1949 to 1955

(B) 1956 to 1965

(C) 1965 to 1970

(D) 1970 to 1990

The computer size was very large in :
(A) First Generation

(B) Second Generation

(C) Third Generation

(D) Fourth Generation

Modern Computer are very reliable but they are
not:

(A) Fast

(B) Powerful

(C) Infallible

(D) Cheap

Which of the following is also known as brain of
computer :

(A) Control unit

(B) Central Processing unit

(C) Arithmetic and language unit

(D) Monitor
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16.

17.
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19.

20.

1 Byte =?
(A) 8bits
(B) 4 bits
(C) 2bits
(D) 9 bits

RAM stands for

(A) Random origin memory
(B) Random only memory
(C) Read only memory

(D) Random access memory

The device used to carry digital data on analogue
lines is called as :

(A) Modern

(B) Multiplexer

(C) Modulator

(D) Demodulator

Databecomes  whenitis presented in a
format that people can understand and use :
(A) processed

(B) graphs

(C) information

(D) presentation

To move a copy of file from one computer to
another over acommunication channel is called?
(A) File transfer

(B) File encryption

(C) Filemodification

(D) File copying
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21.

22,

23.

24.

25.

The  istheamount of data that a storage
device can move from the storage medium to
the Computer per second :

(A) datamigration rate

(B) datadigitizing rate

(C) datatransfer rate

(D) data access rate

Select the Odd one :
(A) Operating system
(B) Interpreter

(C) Compiler

(D) Assembler

A device that connects to a network without the
use of cables is said to be :

(A) Distributed

(B) free

(C) centralized

(D) none of'these

Saving data and instructions to make them readily
availableisthejobof

(A) Storage Unit

(B) Cache Unit

(C) Input Unit

(D) Output Unit

Which of the following is non-volatile storage?
(A) Backup

(B) Secondary

(C) Primary

(D) Cache
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26.

27.

28.

29.

30.

The value of base in a decimal number system
s

(A) 8

(B) 2

(©) 10

(D) 16

Convert: (110),=(__),,
(A) 4
®B) 5
©) 6
D)9

The hexadecimal representationof 14is
(A) A
(B) F
(©) D
D) E

Which of the following is the correct
representation of a binary number?

(A) (124),

(B) 1110

(©) (110),

(D) (000),

The software designed to perform a specific task:
(A) Synchronous Software

(B) Package Software

(C) Application Software

(D) System Software

26.

27.

28.

29.

30.

YA TE&AT JUet | STER &1 HHE

(110),= (__),, 38 diEfdd si-
(A) 4
B) 5
€) 6
D) 9

frfofed & @ & o ST S w1 9
giaffee 82

(A) (124),

(B) 1110

(C) (110),

(D) (000),

fordt faftre & &1 &0 & fau fesmeA
fera T Hieeat-

(A) TERME FrFeer

(B) Uehs @iTaR

(C) T=Ah¥M HIFaAT

(D) fa=n dreaR

[ SECIT-02/2024 |



31.

32.

33.

34.

3S.

Servers are computers that provide resources
to other computers connectedto a :

(A) networked

(B) mainframe

(C) supercomputer

(D) client

The Internet is a network of networks that
connects millions of :

(A) Countries

(B) States

(C) Local networks

(D) Continents

What does ISP stand for?

(A) International Service Provider
(B) Internet Service Provider

(C) Internal System Provider

(D) Internet Software Provider

Which protocol is primarily used to transfer web
pages on the Internet?

(A) FTP

(B) HTTP

(C) SMTP

(D) SNMP

Which of the following is a popular web
browser?

(A) Windows Explorer

(B) Google Chrome

(C) Microsoft Word

(D) Adobe Photoshop
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36.

37.

38.

39.

40.

A computer virus is :

(A) Abiological virus affecting hardware
(B) Malicious software that replicates itself
(C) A type of web browser

(D) A secure firewall system

WWW stands for :

(A) World Wide Web

(B) World Wide Windows
(C) Wide Web World

(D) Web World Wide

A firewallisused to:
(A) Monitor and control incoming and outgoing
network traffic
(B) Increase internet speed
(C) Provide antivirus protection
(D) Optimize computer performance

Interpreter is used as a translator for
(A) Low level language

(B) High Level Language

(C) COBOL

(D) C

Databecomes  whenitis presented in a
format that people can understand and use :
(A) processed

(B) graphs

(C) information

(D) presentation
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